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e Please check that this question paper contains 19 questions.
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General Instructions:

() There arel9 general questions.

(i) All questions are compulsory.

(i) Marks for each question argli against it.

(iv) Questions numbdrtol10afe s nswer questions carryiignarks each. Answer
to each of these que uld not ex8@edords.

(v) Questions numb 5ate also short-answer questionsdofarks each. Answer
to each of these stighs should not exdé@8davords.

ber6, 17and 18 are long-answer questiondaharks each. Answer
qﬁestions should not exdé&6dvords.

(vii) Que 19 contains test items of very short-answers. It & mofrks.
i of th&Vorld and India provided to you must be attached with your

(vi)

() @ got @ & qer 19 £

(i) @ go7 sifard &

(i) 7% & s ga@ orF e &

(v) 797 @ 1 & 10 % Tg-39% art §97 & SR g% 997 8 5% &1 07 §AF
T T T 80 J= G A TE EMT aRy
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(V) 797 @&r 11 & 15 % 4 Tg-F% aid §97 & Gk §&4% & 4 3% &1 U4 Jad%
F97 #T FX 120 =l G S7fe® TEl &T ey

(Vi) F97 @@ 16, 17 ST 18 T =-3a7 aid 997 & Sk 9% & 5 % &1 U7 §4%
F97 & AT 150 =l & Siferw T2l &1 ey

(Vi) 797 F@T 19 7 Sifq Tg-Ia%l P GHET 73 AT &1 T8 GIT 5 B F &

(viil) FER SR 9T & &0F T @r-AEEr B s Sae-giasr 4 saed aelt

(iX) F@r-amfa @ & fd qral ar @Rt & g9 &1 sgatd & ardr 81

1. State any six characteristics of pastoral nomadism in the world. x15=3
TR H Fardl IPERT H (el 8 [auudrsii w1 Swi@ i |
2. Name any four components of cultural heritage facilitating the p ion of natural

phenomena as resources. State the typical characteristic diagculture that helps in
the sustainable use of natural resources. 2+1=3

O A F HEE H E | URA SEHT @ o HINTT, ST AThfereh
TEEET & Fad Ui IUAT ¥ 9Edd § |

3. How has Human Geography responded t e emporary problems and issues of
the human society after the Second r ? Explain with any three suitable
examples. 1%5+1%=3

e fI@ g€ & 9 A9a N FERE FEEE AR qE B
qATEN fhe IR gsa U 27 s JEET |fed T I |

4. Why is rail transport m ular'than the other means of transport throughout the

world ? Explain any t asons. 3x1=3
iﬁﬁﬁﬁ%@gﬁﬂﬁ@ﬂmﬁwmﬁ% ? BE AN HROT
T HIT |

“The ground

e
potential is high in some regions of India.” Support this statement
e examples. 3x1=3

. 3x1=3
H wHAl B T SARHT & a0 SIEEl el M YRR Rl &l T
BT |
7. Explain any three major changes in the export composition of India’s foreign trade since
1960-61. 3x1=3
T 1960-61 § HRA & faaelt =R & Fafd gaed # e 6=l i y9@ aRadHl sl @
BT |
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8. Study the map given below and answer the questions that follow :
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(8.1) Name the inland waterway shown in thﬁ

(8.2) State any two main features of thi terway.
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(8.1 wWfE # fi@W MU I AAHN &I AW Farey |

(8.2) W T SN I fohel & ged fagivaret il Iwi@ wif |
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Note: The following question is for the Blind Candidatsly in lieu of Q. No. 8.
Jie : it g9 aw ghegT aienfal’ # g g97 q@r s & @7 w2

Explain any three features of ‘Suez Canal'. 3x1=3
U FUEOT fhY Fed &7 aui-old QU & kel IR JEgdl H Iwi@ T |
9. Study the table given below and answer the questions that follow : 1+1+1=3
Crop Area Annual World Average Aver
Harvested Productionn  Average iedin Yiel
(Million Ha.) (Million Yield Developing| [B¢Elep
Metric Tons)| (bns/Ha.)] Countrie @ S
(Tons/Ha siHa.)
Wheat 215.27 583.6 2.71 2.70 2.72
Rice 155.13 5965 3.85 6.19
Maize 139.21 600.4 4.31 7.08
Potatoes 17.99 294.3 16.3 16.57
Cassava 16.58 168.1 0 n.a.
Allcerealgrains| 679.88 2064.2 @9 2.76 3.55
(9.1) Which cereal crop in the world h ighest average yield per hectare ? How

muchisit?

(9.2) Which crop has the largest aréa ha
age yield per hectare in the world ? How much is

(9.3) Which crop shows the hi?&
it?
T & T ARoft @ EREE I CLR L FE e A O | L

qrg e | fagg ofaa | faerasha | faesfaa gort
A & (38 @ SO | IS A ofed | ® ofed Suw
g ?) | Hifew @) | (o Ui ®) IqST (== ufa %.)
(=77 uf 2.)

215.27 583.6 2.71 2.70 2.72

155.13 5965 3.85 3.78 6.19

139.21 600.4 4.31 2.93 7.08

17.99 294.3 16.36 16.09 16.57

16.58 168.1 10.10 10.01 n.a.
FA @I 679.88 2064.2 3.04 2.76 3.55

(9.1) HER H T SFO-Had @l Ui SFaR T Sul 9y itk 22 TE fhaer 87

(9.2) fore wad & A5 T 4T BT AR G99 SAUE §7 Te fhawr &2

(9.3) TER ¥ 5T ®ad & Ufd 2 3T Sus g99 3ffere femre 1€ g7 g8 fohaqr
g2
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The following question is for the Blind Candidatsly in lieu of Q. No. 9.

Note:

frerfataa go7 Haa giegdtT ghamar & g go7 a@r 9 & & 7w 2

Why is wheat the most widely grown cereal crop in the world ? Which are the two

Jie :

types of wheat on the basis of the climate ? Name any two major wheat producing

regions of the world.

=3

1+1+1

qOR H G SHO-adl W g P SUREA &F 999 offus R w8 Sadg &
YR W g & & YBR HHE &7 9% & {hal af W@ e IdEd Yo &

IqT3T |

=3

1+1+1

10. Study the diagram given below and answer the questions that follow :

India : Installed Capacity of Electricity (1998-99)

2K X XXX XK K XX
XX XX XXKXXX
KXMHXKKXX
XX XX XX XXX

Diesel & Wind
2%

10%

Natural Gas

arating electricity in India ? What is the total

(10.1) Which is the major source qfige

percentage of installed ca

(10.2) Name the two sources,0
(20.3) Which is the second

alled capacity of electricity.
urce of energy in the country ? What is its installed

rg

capacity ?

e iU T sRE @

P.T.O.

)

99

gwar (1998

3R I8 A 7T T g b I AT

ARG

b2 2328208 S
AAXAKAHKAK XXX

fopa ufaera 22

(10.1) 9RT ¥ f4oTell & SGT & IH@ I HAal &7 30 9 dl @fud &war &a
(10.2) foggq @ 9 wfud &mar ard & "l & A garey |

(10.3) 1 & HoAl BT TEA qIE TN G HAAT &7 THHI TG &FaT b+l &7
5
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Note: The following question is for the Blind Candidat@dly in lieu of Q. No. 10.
T : freafeiterd o7 #aa giegla qhenfal & g g97 a&r 10 & &7 7 &1

Explain any three features of thermal power in India. 3x1=3
AR H a9 faorar &t el i fasivaren & & it |

11. State any six features of pipelines as a means of transport. Name the tw ous
pipelines of the world. +1

IRaeT Gegd & ®T H UrgUarsdi hl fheel B [AAudrsil & Swid i | GHI el

qf UEUEEAl & AW SdiE | Q
12. What is “Open Sky Policy for Cargo” of India ? Name the four@ airports

developed in India. 2+2=4
IRA &I “AEENIE 1 & [0 qch ST A’ 31 &7 9Rd B TATS-qTl &
TR Al b AW TR0 |

13. Why is service sector known as a productive secto@ world ? Explain any three

major components of service sector. 1+3=4
AR § AT &5 &l SAGH &5 & & H Rl ST % foreel I 9@ =kl
B T P |

14. Explain any four urban waste dispos bleMs in India. 4x1=4
ARA § T ufereel & Huer &t ’ 3 B T BT |

15. “Most of the towns of India peffo mber of functions.” Justify this statement by
four arguments with suitable exam 4x1=4
“qIT & STferRdT TR A & 17 T HAT B AMTT IR Tl ERT SUTH
Jerel Hied g

16. Define the termgOccu nal Structure’. Describe the main characteristic each of the

s'@f hubnan occupations in the world. 4+1=5
ol g T | 99 § AMa FEE & 9 1 bl UHh-Uh

& T |

rm ‘Migration of Population’. Describe any four types of migration on the
of direction of movements in India. 1+4=5

A’ I I GRYMT ST | YRT § ST 6l Q9 & e W 9o &
[ IR YR BT IO BT |

18. “The temporal and spatial distribution of large cities of the world has changed rapidly.”
Support this statement with five suitable examples. 5x1=5
“HER % 93 TR & (GO § 99 U9 I b §eH # doll 9 IRadd gU &1 9 &

& gfte 4t SUFH SETEXON B AEG g i |

four major gr

17.
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19. (19.1) In the given political outline map of the Wofldn page 8) four features are shown
as A, B, C and D. Identify them with the help of the map legend and write their
correct names on the dotted lines marked on the map. 4AXY5=2

(19.2) On the given political outline maplatlia (on page 9) provided to you, locate and
label the following with appropriate symbols : =3
() The state having the highest percentage of rural population.
() The state having the highest density of roads.

(i) The steel plant set up in public sector in Jharkhand.

(19.1) T 7T HER & Aoias E@-AHEE (79 8) ﬁaﬂwﬂTAB @(
TT 2 | AT @ FHol B GERd 9 I U SR
W I AU & el A ey |

(192)ama$rﬁqrrqm%w:ﬁﬁaﬁ@qmﬁsr o fafa
Sugh faesl g/ feamen ok AW fafag -
() UHOT SEEET & G99 SAYE giay
(iy Ta8 fos TSk g a ara
(i) FREs F TG TSR

%v

Note: The following questio
qie : frAfartad 7o
est percentage of rural population in India ?

(19.1) Which state r@i o
(19.2) Name the state h has the highest density of roads in India.

ee?plant of public sector set up in Jharkhand state of India.

iS'f lind Candidatasly in lieu of Q. No. 19.
‘@& forT g9T dEqr 19 & &I W E

Science and Technology Park located on the eastern coast of the U.S.A.

is the largest cotton producing country of Africa ? 5x1=5

IR & fohe T & arior SeEEr # gfae g9y sifus 2

(19.2) YA & SH ST &1 919 FaRU 9Y qghi & a9d qa9 s 2|

(19.3) WA ¥ 3N@s T H TIfUd ddaie &9 & T G99 $1 A1 gaqigu |
(19.4) §gH TF RSN & A d¢ W Roq Gem= R deifer 9@ w1 AW SaEy |
(19.5) SThIET | HUTH HT TG I3 IAGH 9 AT &7
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T g, 19.1 & fou

For question no. 19.1
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For question no. 19.2
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